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Notice

Sub : Clarification of Representation - reg.
Ref: CSIR-NML Advt. No. 02/2025

Representations received against this office notice of even no. Dated 11-07-
2025 in connection to advt. No. 02/2025 have been considered by the Competent
Authority CSIR-NML in consultation with concerned experts and decision taken in
this regard is enclosed as annexure I.
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Annexure I

Q.
Book
code

Q.
No. Question Answer by expert Answer claimed by candidate

to be right

Decision of NML based on
inputs received from expert

D 45 &
46

Which is called the red planet? A (Venus) D. (Mars)

Answer of both the question is
D. However all the candidates
has been awarded marks 3 for
question no. 46 as there is
repetation of question

63
There is no incentive ---- work hard in the
organization. D (to) c (for)

Correct answer is D

65 Her ---- attitude resolved the dispute. D (conciliatory) D (peaceful) Correct answer is D

67 Environment can be saved only by ----. C
(conservationists) B (people) Correct answer is C

68 Ramesh was ---- for his misdeeds. B (contrite) A (guilty) Correct answer is B

80 She is worried because (a) she does not have some
money(b) to buy a new refrigerator.

B (she does not
have some money) D. (NO ERROR) Correct answer is B

70 He was ---- by the high expectations of his seniors B. daunted D. challenged Correct answer is B

88
What is the meaning of "clamouring" as used in the
passage?

C. to demand
something in a
loud and angry

way
B. to fight aggressively

Correct answer is C

71

The chef used the knife with great ----.
a) dexterity b) poise c) dexterity calm d) none of
these
given
correct -

A (dexterity) C (dexterity calm)

Correct answer is A

72 The old fort was in a ---- condition. A (dilapidated) C (weak) Correct answer is A

89
What is the meaning of "paranoia" as used in the
passage?

A (an
unwarranted

feeling of fear and
suspicion)

B (a justified reason of fear)

Correct answer is A

73
Ashok jealousy is evident from the ---- remarks he
makes against
Ram.

D (Disparaging) none
Correct answer is D

C
19,

i) Q -19, Q-20, Q -21 - Question is not properly
visible in the hardcopy of question paper. --- ---

Objection is not acceptable
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20,2
1,25,
39,4
4

ii) Q-25 - option figures are not properly visible in
the hardcopy of question paper.
iii) Q-39 - please justify the answer option.
iv) Q- 44 - Question is incomplete/ not clear
properly.

C 1 India is republic which also implies that C A (The constitution is
supereme (chosen option)

Correct answer is C

C 9
Under which article of the constitution the following
is guaranteed. D

The question is incomplete or
not clear on accordance with

the option given in the
question booklet.

The answer is vague hence all
the candidates have been

awarded 3 marks

C 61

The passage is itself about the Pakistan and
terrorism aid it's consequences. A C

Correct answer is A

C 70 B A Correct answer is B

C 94

Please justify the answer i.e. uploaded in the answer
key.
please state the reason that why option (a ) is
incorrect.

C A

Correct answer is C

B 78 B A Correct answer is B

B 90 A B Correct answer is A

B 12 Which is true in respect of the ninth schedule? B
Ans. Land reforms hence

none of these rights answers
Correct answer is B

B 66
Her ........ Attitude resolved the disputes (Both are
appropriate
)

(C) conciliatory Ans. Peaceful Correct answer is C

B 73
Ashok jealousy is evident from the .... Remarks he
makes against ram. (D) disparaging

(A) Critical
Critical is appropriate and

both are synonyms

Correct answer is D

B 84 What should be the heading for the passage A

C. Pakistan and terrorism is
appropriate because in the
passage talked how Pakistan
became terrorism country
and use international funds
in terrorism andchina help in
this nonsense activities and
becomes a Frankenstein

monster because of terrorism.

Correct answer is A

D 39 A B Correct answer is A
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D 81 D C Correct answer is D

D 87 D A Correct answer is D

A 74

Question: Environment can be saved only by -?
a) Citizens b) People c) Conservationists d) Experts
Correct Answer: a) Citizens C A

Correct answer is C


